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SURFACE AREAS AND
VOLUME
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# LP : From a solid cylinder of height 30¢m and radius 7¢m , a conical cavity of

height 24 cm and same radius Us hollowed out . Find the total surface area of

the remaining solid.™
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# LP : Two cones have their heights in the ratio 1: 3 and radii in the ratio 3 : 1.
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What is the ratio of their volumes ?
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# LP : A tent is in the shape of a cylinder surmounted by a conical top of same
diameter . If the height and diameter of cylindrical part are 2.1m and 3m

respectively and The stant height of conical part is 2.8m , find the cost of canvas
needed to make the tent if the canvas is available at the rate of ¥500/sq.

metre( Use pi = 22/7 ) w
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# LP : A vessel is in the form of a hemispherical bowl surmoun L

cylinder of same diameter . The diameter of the hemispherical bowl is

and the total height of the vessel is 13 cm . Find the total surface area of tﬁe

vessel. (Use pi =22/7) -
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# LP : A wooden toy was made by scooping out a hemisphere of iaqi radius

from each end of a solld cylinder . It height of the cylinder is 10 cmiand its base
is of radius 3.5 cm, find the VOIU'T‘eT?SfPr wood in the toy. ( Use pi = 22/7)
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# LP : The ratio of radius and height of a cone & cylinderare 2:3and 4:5.
Find the ratio of their volume. l : h
3 ﬂ \6(0 (o

P




#ip " (202 A
: 150 spherical marbles , each of dian@r 1.4 cm are dropped in a

lindrical vessel of diameter 7 ¢m containing some water , which are
ompletel

completely immersed in water . Find the rise in the level of water in
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# LP : Sushant has a vessel , of the form of an inverted cone , open at the top,
of height 11 cm and radius of top as 2.5 cm and is full of water . Metallic

spherical balls each of the diameter O are put in the vessel due to which
2/5th of the water in the vessel flow !I
the vessel.

D €
s out . Find how many balls were put in
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# LP : From a cuboidal solid/metallic block of dimension15¢cm X10 ecm X 5 cm
cylindrical holg of diameter 7 cm is drilled out . Find the surface area of the

remaining block . ( Use pi = 22/7) v i
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# L? : A wooden toy rocket is in the shape of a cone mounted on a cylinder .
The helght of the entire rocket is 26 cm whlle the height of the conical partis

6cm . 'FhE‘buse'uHhe-cumul-purhvnrrﬂm If the comcal portion is to be
painted orange and the cylindrical portion yellow , find the area of the rocket
painted with each of these colours . ( Take pi = 3.14 )
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